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(a) SBA/d0 = 3.81, SCB/d0 =11.9, SAL/d0=15.8      (b) SBA/d0 =7.72 , SCB/d0 =11.9, SAL/d0=20.3  

(c) SBA/d0 = 11.8, SCB/d0 =13.1, SAL/d0=15.6 

for SBA/d0=4, 8 and12 where SCB/d0=12 and 2=0 deg. 
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(d) SBA/d0 =3.85, SCB/d0 =3.87, SAL/d0 =16.6

(e) SBA/d0 = 11.7, SCB/d0 =3.60, SAL/d0=19.7    (f) SBA/d0 =10.5, SCB/d0 =3.70, SAL/d0 =19.5 

 for SBA/d0=4  
where SCB/d0=4 and 12 for 2=90 deg. and SCB/d0=11.3 for 2=45 deg. 
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(a) SBA/d0=4.01, SCB/d0=11.9, SAL/d0=14.3    (b) SBA/d0=3.85, SCB/d0=3.87, SAL/d0=16.6  

(c) SBA/d0=11.7, SCB/d0=3.82, SAL/d0=15.8     (d) SBA/d0=11.9, SCB/d0=3.74, SAL/d0=15.8

(e) SBA/d0=11.7, SCB/d0=4.02, SAL/d0=19.6     (f) SBA/d0=11.7, SCB/d0=3.97, SAL/d0=16.8 
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(g) SBA/d0=10.8, SCB/d0=3.66, SAL/d0=12.2 (h) SBA/d0=10.4, SCB/d0=3.89, SAL/d0=15.7 

(i) SBA/d0=10.9, SCB/d0=3.86, SAL/d0=19.7 
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(a)

(b)



t=0.43 s                 t=3.70 s t=4.90 s 

t=7.87 s t=8.37 s                 t=9.47 s

Fig. 4.3 Flame-spread behavior for mean droplet spacing (S/d0)m=14.5 
of randomly distributed droplet cloud. 
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